() DOPE34 « SSHETT

L4 6166 o) I—{EREINI0NE
R B 1800 (1750) A0m T —AREEN7483 Ny =
IAYFI—4 & 3n I—EEEI 14675 SRD
8 é S B | YIRS g =
| 2 /\ TANE, AN AN A NN\ N N NVN DN N 270 | 3 |6ABENL
1 YV V VIV V YV V VIV V V V V VY 26 | ¥m |[FAT 1250m
% - 13456 N 142 40m NILZIT ¢ &
R i &2 5 M
) 4 % J—hYI1URTT 0 | dom
ﬁ’%ﬁf 20 W0
Ny TUD
10
00 o P !
AVR— N S \ §§
€
v 9
g 3 5177 &
. _ 8277 3
D4 UFIL—L L 32000 EABITE/t
PN ER AP ERBTIEE 16, 5t ERSEEEt
g +— VMBIl LB T4t 45000
8 vrisE - NI LR 0
=L /s
ﬁ HORE L 7 e
8 9
g |LSEEoL—4 7 @eJ .
g g 3enyI
& §§ ” : % 3emyy o1 , 2 % 3emy7
\E TESEE T — /s % (2 —19.6 " \ \ P 35m 7 1.6 \ \ P / 35mY 7
HN= T 15 = NNy ansz 21 = ~ §J6’{5 Anz2
- 18 SN 4 % ~ AV :
7 gh ’ o \\ R 11 g” ™ B 11
SO7 951 2V TENERINTE 10 — 107173 [ ~
e (1) Smy s () 45mp7 \\_7
=
d : :
§ 4
LN
/| 0 5 10 15 % N B M 45 0 5 10 20 %5 0 B 40 B
NY VEEER M (1~3SH VEEER M) (4558
YAk § g 160 TERUER
E D100 N\ §7 N 1 omg 0~Bm | 5~26m | 32m
% 24 32 . 11~21t| 21.0t | 16.5¢t
4 35myT 0~3. bm | 3, 5~25m 36m
8 — - ¢é—-8 11~21t| 21. 0t | 14 Ot
° <« = . 0~3. 5m | 3. 5~21m | 40m
Y 4¢ + g 40m7J 11~211| 21.0t | 11. 0Ot
= o N\ ., 0~3m | 3~16m | 45m
© 0 0\ 45m>77 11~16t| 16,0t | 7.0t
gg A=A NILERILSIRESHE 1/25
(] INS
(24
=2 e E
N _ =% JCL-530NK
DU 3 3 40m 45m
= 8 Ih BABR 27m [ 265m | 260m | 256m
N gz 9 EEE I
47 5 £ R ACACO/440V 50/60Hz
N 51 T45KW 4P 4O0%ED A /) \—7 il
2810 — — FETIN 30KW 4P 1>/ \—S
— — = 5B ) 11K 4P 1 >/ 95l
=& Iy N\ ik _ 22K 6P SHFERIE (1~4SH)
ﬁg L %# X FiE O/ FN 3 Y =
el NG A b 25KW 6P 40%ED SIS (G
oo |7 | [OEL 2t~20t, 2t~161TF
= 3| o Eﬂk S 8 N #t 2 O/ 5~0u 615, 22 On/s5~0. 75m/'s
- EJ‘E = %ﬁ \ N 8 A (121m/min~36m/min, 121m/min~45m/min)
8|z~ 3E §§ x| Ws | 03 [ 0% |04 | ow
SIS O ~ . g ® E m/min | (086 | L0 | (@46 | @82
5 |7 c‘> O 5 N—RIL—L - 0. 054rad/s~0. 063rad/s ((E=ERE)
o || o (0.52~0. 6r. po . {EREEERE)
o @ =z B 2 0. 7Im/min / 0. 85m/min
- 0 o 53 2 1. 02n/min / 1.220/mln
- ' g = B8Ed, BENSLOBABNEETY
Eﬁﬁ ﬁ aun ‘5 &
[S2al . :
RS e D e
© | o @; s T T T BHHBEHHBIES (ko)
© | ¢ & - -
A TR HER
NN ¢ -1 8 No. |BHEIRUN R i%ggi R No. | BBHEHRUTH ‘;%gg% Wik ER
0 ) ) ) )
N s - -~ 1 [A=20L-6 | 27900 | 9000x2| 9 5300
© e S (i %ﬂa_gk r— = — B 300x2] 10 5500 | HYh -8 2000
gt N=2IL—4 7500 (5700) | 2VFLyy3vOuRN
‘ - %We 2 |Wxsh 400 | #2589 5018 1000%2 (1200%2)
. . . 3 [M17A%28 | 17200 8600X 2 7%30YK 1300 (1200)
O 4 [M12928 | 30600 000%4 95y 200(100)
— > {EEEEHE 1/150 5 |TeREIL-4] 2400 | THEMOL—L 2300[ 11 2700
O HH 5707 100] 12 By7 6200 (6300)
W [\ @ 6 | EBEMIL—A| 11300 | HBRHIL—A 9900 (K9RO-T anJ 5400 (5500)
o g% o 2- $60 640 2- $60 70 EEOO7 1300 S—F9Oy7Est) | BT 4700 (4800)
/ \ bl ) 50 520 Ho07 o
— ‘ N |(#i§% i.i&%)M > Hw gio07 100 v 4250 (4350)
< U rememEOE w o ——
F C W ] 7 [#@oL—4 | 12800 fETL—A 1260013 [7v770v7 | 800
’ 0 ) k707 200] 14 |917-0-7 | 2000 |BLI1T- 2600
\ D
- , 8 |w1oFIL-L] 8900 | IHUFIL—48700(9700) RO T— 300
‘ \ FUN—RILEEE 1/50 (1~32#) (4+ 524 (9900) | #4707 200 |28 (40my7, 648 1431000 (144400)
R %& FUN—RILNBIST@_ 1/50 (kk¥) DERITA + 5DWE T
O U‘D
— O




